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BEsA | 4 | 7:30 | RUN |#21 =45 28 | K |#10 m& G 21| 42
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Q| No |#zE TOGO|[ PLAY PLAYERS v—F| #%2| |Q| No [fif TOGO| PLAY PLAYERS Y—F| #58
1| 1 |®\ 35| 3 | RUN | ZEik 0| x 1| 1 {®| 13| 3 | RUN | #%E 710
2| 2 B8 17| 5 | PASS | B — =miEik| 17| © 1] 2 [ 44| 4 [ PASS| #HE - £E# | 11| O
2 3 |m 29| 4 | RUN | B#E 1|0
3| 3 [ 37| 4 | PASS | BE - — | x 2| 4 |88 47| 3 | RUN | =48 4| O
3 4 |88 42| 7 | PASS | & — - | % 2| 5 |88 30| 6 RUN | FE& 13O
4 5 | 34| 9 | RUN | ZEBE 1] o0
4 6 [ 32| 10| PASS | BE - — | INT 3| 6 [ 44| 1 RUN | &5 6 | O
4l 7 |8 24| 10| PASs | BB - Il | 24| © 3l 7 | 28] 1| RUN | BB 0| x
4 8 [ 3 | 3 | PASS | B - — | x 3l 8 [m 34| 9 | RUN | Tz 5| x
4 9 [ 2| 2| RUN | BB 2 | ©
4] 10 [ 38| 4 | RUN | 1B 3| x
4] 11 [ 28| 7 | RUN | BB 28 | ©
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4 1 | 3| 3 |PASS| EEE - —| x 3| 1 [ 28| 1 | RUN | &#8 5 O
4 2 [ 35| 1 | RUN | &#B 4| O
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o |mmmsm | wTL— | mmeE |Ju-slorn | ETHE | ETRM| SR | -t | EAwE
1| 11:51 KO & - 47 6 10| 0| B -35] 856 PUNT | 18 2:55
2:01 KO Ew-22| - || -]|-| 8 -22] 000 - - | -
2 | 12:00 - Bl - 22 5 o220 ®8M-0 11:19 D 78 2:42
3:43 KO % - 35 5 o|4|o0| B -0 1:53 D 65 1:50
3| 9:21 KO 7 - 31 4 0O|O0f|o0]| % -37| 7:56 PUNT 6 1:25
3:57 PUNT & - 24 5 o1 0| % -35 2:25 | 4DOWN| 11 1:32
4 | 11:10 KO 7% - 33 5 10| 0| % -48| 851 INT 15 2:19
4:22 KO 5 - 32 3 0O|0]| 0| % -32 3:32 [INTRTD| O 0:50
3:32 KOTB % - 25 7 3(1]0]| ®8®B-0 1:36 D 75 1:56
1:32 FUMR & - 46 3 0O(1]0] BB -0 0:51 D 54 0:41
0:46 FUMR B - 48 7 o|2|o]| B-3 0:00 |4DOWN| 45 0:46
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1| 8:56 PUNT B -6 12 |3[2]0] 3%-0 2:08 D 94 6:48
2 | 11:13 KO g -23 | 13 [ 5] 1|0 &-0 4:29 D 77 6:44
4:08 KO B - 30 1 10|00 3&-0 3:52 D 70 0:16
1:47 KO B - 26 3 1]10| 0| B -43]| o0:00 END 17 1:47
3 | 11:50 KO B - 17 5 10| 3%&-0 9:28 D 83 2:22
7:56 PUNT B - 19 8 10| 0| B -29 | 357 PUNT | 10 3:59
2:25 4DOWN | & -35 | - [ -] | -| & -4 0:00 - - | -
4 | 12:00 - = -4 6 2|1 0] 0| & 11:17 D 35 3:08
8:51 INT & - 44 7 2|00 % -0 4:30 D 44 4:21




